I ATAR \
(CON_DNIMYNQ) £ £ E[x]

DCF-C-213G (11. 08)

25.5 +0.8
=
Ii
]

156

142

FEMALE SCREW (M6)

FEMALE SCREW (M6)

82

NOTE 2 ‘

28

\ ZEd

COMPANY LOGO

121 +0.2
142

PANEL DIMENSION (REF.)
(1:2

GAP OF THE CENTER POSITION BETWEEN PANELS IS PERMITTED
IN =2mm IN THE DIRECTION OF X AND Y. (NOTE 4) )
NABEORDEEDTNIFXARE S VYA MIC +2mODEHEFE THES 5 (F4)

ANGLE BETWEEN PANELS IS PERMITTED IN =+0.5°. (NOTE 4)
N EDAEIEE0.5° OFEETHEST 5 ()

‘:_ﬁ; Fi\\

23
IRNY
S S
- §I 2K
) Y
DW3R002ZH1 | S
(DWG No. SJ112647)
FLOATING CONNECTOR SIDE PANEL 7 X

DIMENSION BETWEEN PANELS
(DIRECTION OF X AND Y)

NOTE 2

SERIES NAME

s £AR oN o, zE K s w | o = % &
VER. DATE DESCRIPTION DR, CHK. APPD. APPD.
2 25/APR/2013 006084 SQQEEET?(F)NPSETERE(I)%SE.&%%EL%&E}ﬁv—o 3@) — K. NAKAZAWA Y. 170U T. KUDOU
3 31/0CT/2013 006471 %g%ﬂ% %é’%&gﬁ,@&vﬁg_ﬁ SMﬂ%R)K‘NG — K. NAKAZAWA Y. 170U T. KUDOU _
)
>
N
)
)
N
23
Np
=
(=]
Q
2
=
7
Bk PERSPECTIVE VIEW <|
N
A-A o
a:2 =
a
120.5
A —
L LA = 0 r—
: Il mn o N @L 6 gp © @
POLARITY KEY / S A
Y-
SPACE THAT INSERTS SIGNAL HOUSING B SPACE THAT INSERTS SIGNAL HOUSING A
(PRODUCT NAME:DW3RO12B, DWG No. SJ112649) (PRODUCT NAME:DW3RO12A, DWG No. SJ112648)
ESY VIBHEASH EESNY U AEAER

DISTANCE BETWEEN PANELS IS PERMITTED IN =1.5mm. (NOTE 4)

N tIEIBEEE (X 1. SomD EF TR Y 4 (F4)

O | | O |
(o) O
M 1
[ || o
| — —
+
—— [ — <
[ ] [ s
U U
X
DIMENSION BETWEEN PANELS
(DIRECTION OF Z) VA

¥l B o H

SPECIAL CONTRL [T
LigEth

LR LLAR LR RLLAY LA LALLN LRI LLRRY LLLAYLALA) I Y N B Y N I B
10 20 30 40 50

/2 NOTE 1. PRODUCTION LOT NUMBER IS SHOWN AT THIS LOCATION.
/N NOTE 2. THROUGH HOLE FOR ATTACHMENT SCREW.
USE ' SHOULDER BOLT (DWG No.SJ112654)" OR 'M6 SCREW(WITH WASHER)' FOR ATTACHMENT SCREW.
-TIGHTEN SHOULDER BOLT BY 5.2[N-m]=0.5[N-m].
-TIGHTEN M6 SCREW BY 2.6[N-m] 0. 3[N-m].
NOTE 3. POWER SUPPLY TERMINAL CONNECTION POSITION.
TIGHTEN M6 SCREW BY 5.2[N-m] 0. 5[N-m].
NOTE 4. THE ANGLE BETWEEN PANELS IS NOT INCLINING MORE THAN THE TOLERANCE LEVEL
OF THE POSITION GAPS (X,Y:=2mm) AND THE DISTANCE (Z:=1.5mm).
A\ GElL BROMEBICREL I ERTT 5,
/N GE. BYftTRUEEER *
B2 Y ff (42 CIZIZ Ty ans" -4 bb (K% SJ112654) | FE 1= (3 M6%a C (Tyv—1) | ZEAD &,
VI =K MDA FMA 0 5 2[N-m]£0. 5[N-m].
-M64a C#gsDF1FMY @ 2. 6[N-m]+=0. 3[N-m].
F3. EBIRImFIEMEL Mo C#EOAT(F MY - 5. 2[N-m] 0. 5[N-m].
4 N UEIOAEIXMET X Y =2mm) & & UIERH (Z: 1. 5mm) OFBRHEEEZ TENMEWNI &,
4 |SPRING PIN 2 |STAINLESS STEEL - -
3 |HEXAGON NUT M6 2 |BRASS NICKEL PLATING -
SILVER PLATING
2 |PIN CONTACT 2 |COPPER ALLOY LUBRICATING A -
1 |BASE HOUSING 1 |PBT COLOR:BLACK -
7E & b3 B % #H Tt E m =
NO. DESCRIPTION QTY. MATERIAL FINISH REMARKS
452 (SPECIFICATION) % 1hR(ORIGINAL DATE) R (SCALE) 1) —Z (SERIES)
JACS-30260 O/ JN/2012 1:2 DI3. |\ | & A 22 B F TSRt it
il - — FATILD JAPAN AVIATION -
—f1% 23 2= (GENERAL TOLERANCE) B i
K. NAKAZAWA DW3P002ZH1
<t 3% (DIMENSION) £5 (ANGLES) C;Bg p— @Z&E ;EI\II_I:I)EL(J);‘?S\:\I |I_(-3|-SD E
c08  |xo = woro. | " FIXED CONNECTOR
ix ig? XOX 4+ fffo. T KUDOU — X E &S (DRAWING NO.) (é’é?)
. +0. 2 MASS
s g @—G SJ112646 3
JAE Connector DIV. Proprietary.

Copyright(C) 2012, Japan Aviation Electronics Industry, LTD.





